Turbulent Flows

Stephen B. Pope Cambridge University Press (2000)

Solution to Exercise 7.11

Prepared by: Michael Stumpf

Date: 12/17/17

In fully developed turbulent pipe flow, the mean temporal derivatives vanish and velocity statistics only depend on the radial coordinate. Hence, Eq. (5.45) reduces to

$$\frac{\partial}{\partial r}(r\langle V\rangle) = 0,$$

which, with the boundary condition $\langle V \rangle_{r=R}$, integrates to

$$\langle V \rangle = 0.$$

The radial momentum equation (5.47) then simplifies to

$$0 = -\frac{1}{\rho} \frac{\partial \langle p \rangle}{\partial r} - \frac{1}{r} \frac{\partial}{\partial r} (r \langle v^2 \rangle) + \frac{\langle w^2 \rangle}{r} \\ = -\frac{1}{\rho} \frac{\partial \langle p \rangle}{\partial r} - \frac{\partial \langle v^2 \rangle}{\partial r} + \frac{\langle w^2 \rangle - \langle v^2 \rangle}{r}.$$

Differentiating in the streamwise direction yields

$$0 = -\frac{1}{\rho} \frac{\partial^2 \langle p \rangle}{\partial x \partial r},$$

and thus

$$\frac{\partial \langle p \rangle}{\partial x} = \frac{\mathrm{d}p_w}{\mathrm{d}x} = \mathrm{const.}$$

The axial momentum equation (5.46) simplifies to

$$0 = -\frac{1}{\rho} \frac{\partial \langle p \rangle}{\partial x} - \frac{1}{r} \frac{\partial}{\partial r} (r \langle uv \rangle) + \nu \frac{\partial^2 \langle U \rangle}{\partial r^2}$$
$$= -r \frac{\mathrm{d}p_w}{\mathrm{d}x} - \rho \frac{\partial}{\partial r} (r \langle uv \rangle) + r \nu \rho \frac{\partial^2 \langle U \rangle}{\partial r^2},$$

which, using integration by parts, can be integrated to

$$0 = -\frac{1}{2}r^{2}\frac{\mathrm{d}p_{w}}{\mathrm{d}x} - \rho r\langle uv \rangle + \nu\rho \left(r\frac{\partial\langle U\rangle}{\partial r} - \langle U\rangle\right) + C,$$

where C is a constant of integration. At r = 0, symmetry implies that $\frac{\partial \langle U \rangle}{\partial r} = 0$, and hence $C = \nu \rho \langle U \rangle$, leading to

$$\frac{1}{2}r\frac{\mathrm{d}p_w}{\mathrm{d}x} = -\rho\langle uv\rangle + \nu\rho\frac{\partial\langle U\rangle}{\partial r} \equiv \tau(r).$$

At r = R, $\langle uv \rangle$ vanishes and thus

$$\frac{\mathrm{d}p_w}{\mathrm{d}x} = \frac{2}{R}\nu\rho\frac{\partial\langle U\rangle}{\partial r}\bigg|_{r=R} \equiv -2\frac{\tau_w}{R}.$$

This work is licensed under the Creative Commons Attribution-NonCommercial-ShareAlike License. To view a copy of this license, visit http://creativecommons.org/licenses/by-nc-sa/1.0 or send a letter to Creative Commons, 559 Nathan Abbott Way, Stanford, California 94305, USA.